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Instructions for the Candidates
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This paper consists of sixty (60) multiple-choice type of questions,

out of which the candidate would be required to answer an

fifty (60) questions. In the event of the candidate attempting
more than fifty questions, the first fifty questions attempted
by the candidate would be evaluated.

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(0] To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(1) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(€25)] After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.
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end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
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Use only Blue/Black Ball point pen.
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Paper 1
gyutent I

Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : (1) This Paper contains Sixty (60) multiple choice questions, each question
carrying Two (2) marks.
(2) Attempt any Fifty (50) questions.
g : (1) A yEAutehd 918 (60) Sgfae wed o o Y ween &M (2) MW
3R
(2) =R T (50) AT SWforn

Answer question Nos. 1 to 6 T ® 1N 6%‘@%3

based on either the English

passage or the Marathi passage : e ed. Ui fwar
Parents have to develop the habit TSl SaTareiiel goi=l 3w

of thinking in terms of ‘we’, not B
‘me’. Think about the whole family.
Some conventional, orthodox men S Teqd™eh Sfaeiel TayaeHt
feel they are the heads of the

R foer anfor it et Siieas
families. So it’s their right to get

all the advantages, privileges etc. AT HROM 2SEEET 96T hedl. =

Similarly some modern women Teufq hae aiEl foER Sel T R
think that ‘Gone are the days. Now )
TEA: TS & AgT W 3. o7 e

we are working and earning by

shoulder to shoulder to men. Hence qUGI=l A8 THIvERl Heyat=A

the women should get the equal or

A afadd arld. o Sgarel e
sometimes even more advantages

and privileges’. Both such types of U Teseted Y5 FUdHd fetfect et ore.

3 [P.T.O.



parents do not have ‘we’-feeling.
Family-oriented men and women
would think of the whole family as
a unit, the advantages as well as
troubles of each and every
individual member in the family.
Thus 1in any interpersonal
relationship—between spouses,
between parents and children, and
between children—the thinking
should be of ‘win-win’ type. The
habit-formation should start from
parents. Naturally the children will
receive and absorb the same

method of behaving.

When we listen with the intent to
understand others, we begin true
communication and relationship
building. Generally parents go on
ordering, dictating, coercing the
child without listening to him/her.
Hence there 1s no two-way
communication between parents
and children. One-way ordering

and the other-way obeying or

AUG - 00115/1—B

TS A ol a8 A0 & oS

e SO &5 Id. ShIvrer

oS T SIS TGOS <A SAT=T
TANTAT SR Soqhe T80 3T
fafay STd-wgrEl 9 9REw=T 7US 99

g9 gl AR YU AR wULS

Hifgcaegaed of Aehiail el Bidl.

aeEg USRI Ty ETer, S

TSI HiGHed HHgr=, SdSHet —

v fafay wgre, sferrre Tervari

g8l 9 Ugd - Tded J%, W Al

Higdheu T M Joas! HfecTeaesRd

dfgshd hall SIAA—c HHSTA Teh—

JehTHl STeqEdlsh arEHd e ®a
Tfe W= SR shed. I kil
fafera s sfon sieft Aidial A 6]
Hl. s SAATIAd FIST HifgeTet
STUffad SO ST VA=l AT -

FHIVTAHA TSLqS HHT FTA. AT




disobeying is generally observed in
the society. Even in parent-child
relationship, it’s better if parents
first listen to children, observe their
expressions, behaviour. Here they
try to understand the child. Now
it’s likely that their reaction would
be in line with the child’s ability
and expectation. In fact, parents
have to remember that Success
definitely deserves a hug, but
Failure needs an even tighter

embrace.

Some conventional men think

that :

(A) they must take all the decisions

in the family

(B) women should get equal

advantages and privileges

(C) they must have all the
conveniences and advantages

in the family

(D) everyone in the family must

obey them
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STV Al S YT T Ao

ATes STeE e TUT STl HHT e,

TTefIaeTaet 37l S, arars s

tferer aeneiene gehct. ki ¥eY

fiegd St T Fiell. ShIvmdl ot

e fafear sTcafaver arRmEn, 3™

Ifoeh SRl TIR AlAd. T FIAravd

IBUITES  STr=ar Ao 9.9

MK AT ded el SHSYd

M fSRfae. & o1 Te <t Aol
TAYaTRHE STt feell ofRd.

R Ieh T He<aT™ T1eH g ?

A) &b

(B) SiaA

(C) Ty

(D) @y
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Thinking in terms of ‘we’ means

thinking about :

(A) the family

(B) the nation

(C) both men and women
(D) the society

Which of the following statements

is true ?
(A) Orthodox men have ‘we’-feeling

(B) Children learn methods of

behaviour from their parents

(C) Parents and children must have

a friendly relationship

(D) The habit formation in the
family should start from grand-

parents

True communication and

relationship building begin with :
(A) ordering and dictating

(B) ordering and obeying

(C) expecting and speaking

(D) listening and understanding
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qTo= ARG TR WIS ot TS Seror==

ST g9 S{aH

(A) 3TheH
(B) T@Irgm
(C) HeaHTaH
(D) frdrern

AR ATEHAA Ifuedl w1 ®a
B ?

(A) WO HEW T hoolcATos

(B) Sfiarehe urguarEn g gt

IS

(C) WSt wren =gl ST

(D) Hifecqsaeer = Hhoslcaros

gferd, IToT SRR I HETeT hTH
%ol ?

(A) = Ael™ "eE TR

(B) fafed wo= Aew T
(C) wor wWEwel AehR

(D) <t @ AR Hey
ERCIY|




If parents try to understand the
child, their reactions will be in

consonance with the child’s :
(A) behaviour

(B) achievements

(C) abilities

(D) ambitions

The most appropriate title for the

passage 1is :

(A) The parent-child relationship

and the family
(B) The compulsions of family life
(C) True relationship building

(D) Success and failure in the

family

Which of the following is not an

example of non-verbal

communication ?

(A) Letter Writing
(B) Facial Expression
(C) Pace of Speaking

(D) Silence
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ST ST TTeaT= AT ST STl

ST, T A T IS3Tar Sl Sed™

R STerTeAT Sl fersomet Tt fHesrett.
(A) gAY SRR, ITWY TH

(B) qatd =&, ST SR

(C) wyui faum sle”

(D) dyvi faem 9=

g1 3qr=arE  Aferes gudE IS

U ?

(A) ST YaTE

(B) oron 3Afor st

(C) =fea Tifeca= HWe@

(D) v | Hew

ATk I T :37e8 YA 3180
e | FA

(A) e

(B) =EaEia gEwE
(C) v a7

(D) #F fean wtaa
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On which criteria communication
can be classified into ‘Intra-
personal’, ‘Inter-personal’, ‘group’

and ‘mass’ communication ?
(A) Medium of communication

(B) Number of participants in

communication

(C) Message of communication
(D) Purpose of communication

Which of the following is the most
correct description of ‘breaking news’

in the context of news-channel ?

(A) A news mainly about a shocking

or violent event

(B) A news mainly based on
pictures taken by hidden

camera

(C) A short and developing news
about an important event just

discovered

(D) A precise news focusing on
investigation of political

corruption
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10.

11.

12.

What is the significance of the 1980s

in the context of television in India ?

(A) Television transmission began

in India

(B) DTH services for television

began in India

(C) Rapid

Doordarshan’s network

expansion of

(D) Privately owned TV channels

were allowed in India

The round table sitting arrangement
in a typical conference room

facilitates :
(A) one-directional communication

(B) more interactive communi-

cation amongst participants
(C) top-down communication
(D) bottoms-up communication

What communicative dimensions are
added when PowerPoint presen-

tation 1s used in teaching ?
(A) Only visual
(B) Only Audio
(C) Audio as well as visual

(D) Audio, Visual and Interactive

10.

11.

12.
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IRANe qesEmi=n Tguid 1980

TIThT HE<d hE 3Tg 2

(A) YRATd gfE=remoft geqom=t geerd

(B) viRarad gIfesaret g&igomdrst
AT o= gea

(C) TEE=a1 STesar= o for&r

(D) TTsTl it aife=amT TR

T
HAHIYR URNE e STHciel] ST

NN 2 N
Metdst doon HAl anlVicd] Henl=Hl

AT WIeEed < 2

(A) T 91 THies HarH

(B) W9 Tediaeld  SATa{shaTcHeh
AT

(C) e HerE

(D) e ERTI

Terenfaar ofaRdise Fedsom=ar arm

HAHS FAIAA RO STAH T

foezara 2

(A) K g

(B) el 4

(C) g emfur g9
(D) oA, g¥F ST STRIhATHE
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13.

14.

Consider the following code words

for the fruits

Banana — 010, Apple — 111,
Mango — 101. By the nearest
decoding procedure the codeword

000 will be decoded to :
(A) Banana

(B) Apple

(C) Mango

(D) Either Apple or Mango

Which of the following is zrue for the

real numbers m and 2 ?

(A) m and 2 both are rational

numbers

(B) m + /2 is a rational number

T

V2

are not real

(C) 2= and

numbers

(D) m?is irrational for every natural

number n

13.

14.
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Weltel THO Tedia ATHRIT Hichideh
Y el

HB — 010, FHEE — 111, 3TET —

101 T SRAId S Sfelesdl e AT
famhfae FEEER 000 A1 Wienfas

NEACRE RS CARCE

Q) sz
(B) TH=R
(C) 3T

(D) wT=g foan atien

GeATeTieht v faeam na (2 a1 araa

T Geuid | 3R ?
(A) 3 2 o 3= IRET &A1 3TRA

B) n + 2 & UHE = e

T

NG

q1 e G&AT AR

(C) Jan=

D) n? & Y& "giier 9& n 9E0

T HEd e
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1 1
15. Suppose x; = 10, xy = x7 + To’ = , | 16, FHST x; = 10, x5 = x7 + o ,
1 . 1 AN A ~
Xl = Xt R Then which of the X = Xt oF NARCISIGEEARCINE
following is not true ? fqu™ 3 TR ?
(A) No two terms of the sequence (A) =1 SETSde R A e
are equal
q HHME '_‘||_E>=|<_‘|
(B) At least one term of the
sequence is larger than 10.1112 (B) &1 HTAHTATS THAT HEAT
(C) The sequence is strictly 10.1112 Tan =S o718
increasing (C) B TATHTCA HHTT: aTed SO 3T
(D) Every term of the sequence is . . ..
(D) Il HEIMHTdT Jedsh 9&dl 11.11
less than 11.11.
16. Assume that human beings will R e
survive on the earth for infinity. | 16. &1 YAceR 3Td hiedladd HITeSIA fSrerd
Then : RUGEICEE
(A) There is a person whose family ) )
. . . (A) THIA Tl 968 TS
line will never terminate
(B) Everyones family line may get T
terminated n .
(B) Qcdonldl dRIlldoo Csld ol Rlend
(C) At least 50% of the present
person’s family line will not be (C) =Hld ®H 50% oHeKil=l SR
terminated e TR
(D) At most 50% of the present
0 [a il hd
person’s family line will not be (D) ST SR 50% SR =eees
terminated TTEd eI
11 [P.T.O.



17.

18.

Three boys {b;, by, bs} and three
girls {gy, &, g3} are registered in a
marriage bureau. Suppose each boy
wishes to marry a girl of his choice.
In which of the following situations
will each boy get married to a girl

of his choice.

(A) by likes gy, by likes g7, g} and

by likes gy

(B) by likes {gl, gg}, by likes g3 and

by likes gy

(C) by likes gy, by likes g7, o} and

by likes g3
(D) b, likes g, by likes {g,, g5} and
by likes gy
Suppose that in an organization
every teacher is a scientist; every

scientist who 1s not a teacher is an

engineer. Therefore :

(A) every engineer is a scientist
(B)
(©

every teacher is an engineer

every scientist i1s either a

teacher or an engineer

(D) no teacher is an engineer

17.

18.
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T foare-Tieelt TR {by, by, byt A
A gl o gy, gy, g5 A A HeAA
e A fae.
TEA AR T hiaar e, ™
@t foeiedn shiven gRfEerdiaes g
T[Tl STTIeA T e o ]
I BEA 2
(A) by = THA gy A, by T gy, g
A by T g, TSR
(B) by = wEdl {gy, gyt M, by gy
MG by A g A AR
(C) by = T&dl g, &, by = {2y, g}
MG by T gy AR
(D) by = TEd gy W, by = gy, g3
TG by W gy AR

Teh! TEIME) Y ¥1eteh 31 Sffvieh o1
e SeTeh, Sl foreres A, @ eifvia
e W ¢

(A) T AMMFar @ S oTR

(B) & e = efugar ofR

(C) e o=tk = ferh e fohen
Al 318

(D) =ivmél fonereh @1 Sffwear e

TS Th il oAl

12



19.

20.

L, M, N, P and Q appeared for a test.
M' scored better than P, but scored
less than L and N. L scored better
than N. P scored better than Q.
Which of the following is the correct
descending order based on their

performance ?
(A) LNMPQ
(B) NLMPQ
(C) QPMNL
(D) PQMLN
Based on the following statements,

which of the conclusion/s is/are

correct?

Statement I : Some leaders are

intelligent.

Statement II : All the managers

are intelligent.

:All the leaders are

intelligent.

Conclusion 1

Conclusion 2 :Some managers

are intelligent.
(A) Only 1
(B) Only 2
(C) Both 1 and 2
(D) Both 1 and 2 do not follow

19.

20.
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L, M, N, P =701 Q Weh1 =r=of qliaren
FHA. M @ P e eifas o e,
g L et N & et 70 fhae.’
L o N uean sfferes 1o fHesred. P oawl
Q Te =TT U fHeAt. e el
foIR e, Tefterdent RIvT Ta S
UNIRER A CIERIN

(A) LNMPQ

(B) NLMPQ

(C) QPMNL

(D) PQMLN
qdia faumr=n seR, wireiadst
Hv(dr) s wed Idd Iar ?

faam 1@ =@ T gfeam emRa.

faam II : 99 =gaeum® gfgam
TRd.

Rl 1 @ w6 T gfgam e

frsRsl 2 : @S TERUIE  gigam™
TRd.

(A) w1

(B) w2

©) 192 A<=

(D) 19 2 =R AN

13

[P.T.O.



21.

22.

Based on the following statements.
Which of the conclusion/s will
follow ?

Statement I : All tigers are
brave.
Statement II : Some brave

animals are kind.
:Some tigers are
kind.

:Tom 1is a tiger, so

Conclusion 1

Conclusion 2
he is brave.

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

Mohini, Nanda, Seema, Anisha and
Sangeeta are participating in a race.
At the end of the race, Seema was
ahead of Nanda but behind Anisha.
Mohini was behind of all. Sangeeta
was ahead of Seema. Who must be
the first three in order of finishing
the race ?

(A) Mohini, Sangeeta, Seema

(B) Sangeeta, Seema, Anisha

(C) Anisha, Sangeeta, Seema

(D) Seema, Sangeeta, Anisha

21.

22.
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e faem=a STaR Weftetish! v
e wed Ida ?

el 9 IR TR
HE IR IO AR TR
HTE o A, ST

2 ST IS, WA YR
3R,

faem I :
fagm 11 :
freemel 1 :
foeeRe 2 -

(A) w1

(B) w2

©) 192 <&

(D) 19 2 3

e, wg1, 9o, A 9 Gar T

rEvaTe] TEd 9T Ud STed. Tl

TUUIreT doed EIHT AereAl YR UK
Tt ST e Bt Tt GoaeT afge
faelt wIv et ?

(A) wfet, g, €
(B) wfran, €, sifen
(C) afren, wfrar, €
(D) i, i, sfen

14
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23. Which of the alternatives will | 23. Heiierish! v waid feerell 1er Sof
E}ﬁ?{ ?
complete the following letter series ? Tﬁ '
HIG, LMK............. , TUS, XYW. HIG, LMK,............ , TUS, XYW.
A) PQO (A) PQO
(B) OPQ (B) OPQ
(C) NOP (C) NOP
(D) MNL (D) MNL
24. Which of the following represents | 24. WTcicideh! I AT ‘ Tes, 3T, TR
the correct relationship among AT A FeAH e ?
Fruits, Mangoes, Alphanso ?
w ((0)
 ((0)
» ()OO
» (OO O
(©) @ O
(C) @ O
15 [P.T.O.



AUG - 00115/1—B

Use the following table to W9 o, 25 o 28 WISl Wleilel daer=n

answer question Nos. 25 to 28 : ; .

The following table shows the i
WAl dearqed 9 gemyesd MBA =0
distribution of candidates who

appeared for MBA entrance TORT TR St S 1 e

examination and candidates who Il Frred waneatel Afedt fael

passed the examination in seven 3 ?
different institutes.
wrereaty feawor
Distribution of Candidates
Institutes Appeared Passed
A 22% 18%
A 22% 18%
B 15% 17% B 15% 17%
C 10% 13% C 10% 13%
D 17% 16% D 17% 16%
E 8% 9%
E 8% 9%
F 12% 15%
F 12% 15%
G 16% 12%
Total No.of G 16% 12%
Candidates 8550 5700 T et 3550 5700

16
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25. What is the ratio of passed | 25 A = Wﬁ'q%,l\:[ TOad S0 HATAe
candidates to the candidates who qhenes @ geme T sEee
appeared for the examination for TReneffel SrERr TURR w2
institute A ?

(A 9: 11
(A) 9: 11
(B) 14 : 17 B) 14 : 17
© 6:11 © 6:11
D) 9 : 17 D 9: 17

26. What is the percentage of passed | 26. BaﬁCmWﬁ&E@Wqﬁﬁw
candidates among the candidates FECI qENATAY qoA S0 e
who appeared in institutes B and C T Gy 8 S ——
together ?

(A) 68%
(A) 68%

B) 80%
(B) 80% (B) 80%
©) 74% (C) 74%
D) 65% D) 65%

97. Which institute has the highest | 27. TXi&el S&eien Wianeftaed ol e
percentage of candidates passed to Tdeneffel Taharl HIveAT gXEgE
the candidates appeared ? TaifgE e ?

A) B (A) B
®B) C ®) C
17 [P.T.O.



28. The number of candidates passed

from institutes A and D together
exceeds the number of candidates
appeared from institutes C and E

together by :
(A) 228
(B) 279
(C) 399
(D) 407

Use the following table to

answer question No. 29 and 30:

Proportion of population of seven

villages in 1997 :

Village | % Population| % Population
below Poverty
Line
M 16 38
N 15 52
0) 11 42
P 16 51
Q 11 49
R 21 46
S 10 58
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28. A 70T D a1 FEEmYT Tda Il seiean

wieneff=t e g C it E = geeme
T TecTed wianediaen fohdy Se
A ?

(A) 228

(B) 279

(C) 399

D) 407
Y9 ok, 29 IMTUT 30 WISt Wit
TRATE SUANT AT

T MEmeETd 1997 HEid AlhEed
JHIOT :

ME | FAREET %| IIGERY @Teiel

TAREET %
M 16 38
N 15 52
0] 11 42
P 16 51
Q 11 49
R 21 46
S 10 58

18



29.

30.

31.

Find the population of village Q if
the population of village M below
poverty line in 1997 is 12160.

(A) 18500

(B) 20500

(C) 22000

(D) 26000

If the population of village P in 1997
1s 32000, then what will be the
population of village N below
poverty line in that year ?

(A) 14100

(B) 15600

(C) 16500

(D) 17000

Which of the following is the correct
chronology of communication
technologies ?

(A) Still Photography, Computer,

Radio, Internet

29.

30.

31.

AUG - 00115/1—B

M 31 e[ 1997 HEY SIGERY @aid
AREEA 12160 318a, T Q A1 TET=!
THU dAehde fohdt ?

(A) 18500

(B) 20500

(C) 22000

(D) 26000

P 1 TET=T 1997 AEd TehE@ 32000

A, I st N o1 Mardie STReaRy

el aehee fohdl s@d ?
(A) 14100
(B) 15600
(C) 16500

(D) 17000

. . . AN o Y
AP aAAED Clldlcdbenl enlVldl

HAHA AT AR ?

(A) feer srEnfason, o, Yfest, setne

(B) Radio, Still Photography,
Computer, Internet (B) fesh, fer srnfestor, 9o, sete

(C) Still Photography, Radio,
Computer, Internet (C) feer Brenfertor, e, T, Fevie

(D) Radio, Computer, Still
Photography, Internet (D) fe=T, Tumen, feer sEfeson, gee
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32.

33.

34.

On the basis of structure and
function identify the odd out from
the following :

Facebook, G-mail, MySpace, Orkut,
Linkedin :

(A) Linkedin

(B) G-mail

(C) MySpace

(D) Facebook

In the context of internet what 1is

the full form of URL ?

(A) User Requested Link

(B) Ultimate Response Location
(C) Unique Request Locator
(D) Universal Resource Locator

Which of the following softwares is
used to process and analyse

quantitative data ?
(A) Quark Express
(B) SPSS

(C) Quant Chrome

(D) SSQN

32.

33.

34.

AUG - 00115/1—B

TIAT 01 SR 31 TR oeR. @refia Terd

9 JHUN Uk 3@l

T, ST-Hel, HEE, sfee, feides
(A) feez

(B) Si-#a

(C) A=EE

(D) ®HIH

geieA] deHid URL &1 SUS og&ar
foea®y w@ ?

(A) IR s faw

(B) odtie Rearg dehem

(C) Firer e diheX

(D) Ffeeda REE s

HEAHS: dedeR Gihal HLoIamEar o

a AN A ~ =
fITATUT HLTATHST WTeTeAdeht ShIvTd

[ o Sd ?
(A) FaTh THIHE

(B) TH.UI.UH.TH.

(C) e &

(D) TH.THE.FH.TA.
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35.

36.

37.

In the context of computer based

word processing a typeset/fontset

particularly used for Indian

languages including Hindi and

Marathi which can be easily used

across different softwares and

operating systems without the help

of converter is called as :

(A) Unitype

(B) Indifont

(C) Unicode

(D) Ultiform

In the context of computing and

internet, identify the correct pair

from the following :

(A) TB—Memory Storage Unit

(B) Playstore—Operating system

(C) Pixel—Colour
facility

(D) USB—Antivirus

Which one of the following is an

enhancing

example of in situ conservation of
biological resources ?

(A) Botanical Garden

(B) Zoo

(C) Breeding Centers

(D) National Parks

AUG - 00115/1—B

35. TIUh STERIG Y18 Weh A=A deuia feat

36.

37.

9 WEME YA Aol foRsem
gAfadear o Sivrearegl ATmfen
e 89 Aifedsia] ‘swegel’
Hioede=a HedIREE & A IS
RO Thiedeell Shd WU ?
(A) gferEy

(B) 3w

(C) FfThie
(D) sriwrd

TATUA 9 T Hevid Wieiieiisht 9y
el M :

(A) Zisit (TB) — wifed! WISev[sh Teheh
(B) wEIRR — Aqifen fa=m

(C) frFa — Trads giaen

(D) gua.st. (USB) — 3idsri™
AU SR SRS ST
TSI FaEae 3|0 3G ?

(A) FAoIIT 3™

(B) wroft @™

(C) 91 &<
D) T<E 3T
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38. In which states 1s Western Ghat 1is

39.

40.

spread and known for its rich

biodiversity ?

(A) Maharashtra—Rajasthan
(B) Gujarat-Madhya Pradesh
(C) Karnataka—Telangana

(D) Maharashtra—Karnataka—

Kerala

The solidwaste from hospital 1is

classified as :

(A) Hazardous
(B) Non-hazardous
(C) Compostable
(D) Combustible

Which of the following pairs of air

pollutant causes acid rain ?

(A) Sulphur dioxide—Carbon
dioxide
(B) Oxides of nitrogen—Carbon

monoxide

(C) Sulphur dioxide—Oxides of

nitrogen

(D) Ammonia—Chlorine

AUG - 00115/1—B

38. S fafaeen gm srdiive™ ufvey

39.

40.

S R ToIHE T TR 2

(A) HERTSE— ST

(B) TSIA—HEAIRIT

(C) hrfesh— T

(D) HERTE—FHAIch—Hhid

G(°||{9||U¢|qult'1 Srch )l onlVicdl HehRid

RTOT hell AR ?
(A) =T

(B) 3TeTdeh

(C) ¥=oil &
(D) T @Um

(aV N haN o N0
EITATeTdsh! ShTUTe Sfod Sl Sel o

I Ry et B ?

(A) T SHATFIESH — HEH SH-
(B) TeEEEH A® ATISISH—HEA
(C) T SHsFIEE— IR ed 3iH

EIPEISE

=

(D) SHIF=I—FARA
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41.

42.

43.

44.

Which of the following is a
herbivorous animal ?

(A) Snake

(B) Frog

(C) Deer

(D) Fox

Large number of people have
serious apprehensions about..............
energy.

(A) Fossil fuel

(B) Nuclear

(C) Hydro-electricity

(D) Solar

Which one of the following agencies
regulates Higher Education ?

(A) MHRD

(B) NCTE

(C) UGC

(D) NCERT

Which one of the following is
responsible for professional
development of teacher’s in the
Higher Education ?

(A) SCERT-SITE

(B) NCERT-RIE

(C) UGC-ASC

(D) UGC-DEB

41.

42.

43.

44.

AUG - 00115/1—B
TCHCTUsh! ST Yo IMhTeRt 278 2
(A) 99
(B) 9H
(C) =&
(D) =hrcel

TTATAGH] HITAT ThR=AT ST <A1
IO Tk A= q9 Higdl
a2

(A) FISHIEA TR heladl Il

(B) 1] el

(C) SAfaegd

(D) IR el

WTAtAUeh! hIvTdl TE 3= fRreoms
e = ?

(A) TH.TI.3R.E
(B) wA.H.dE.
(C) 7.t

(D) 2R

3= forerondial fenersrr=an =araanfas
o a a AN A ~ a
EEICIEISEIEHUERCI IS ECARCAMIE]

e ?
(A) TEHEARA. —tE.3mEAE

(B) TH.91.E.3TR. 3. — 3TR.3TH.8.
(C) F.ST.§.—T. g .
(D) gsi.d.—<rg .
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45.

46.

47.

48.

When was the first Open University
established in the world ?

(A) 1969

(B) 1971

(C) 1980

(D) 1857

Which commission mentioned that
“If we exclude spiritual training in
our institution, we would be untrue
to our whole historical
development” ?

(A) Radhakrishnan Commission
(B) Kothari Commission

(C) Dave Commission

(D) Mudaliar Commission
“INFLIBNET” is :

(A) Research Portal

(B) Learning Resource Portal

(C) Educational Network

(D) Information Library Network
Which one of the following mission
is related to Higher Education ?
(A) SSA

(B) RUSA

(C) RMSA

(D) EFA

45.

46.

47.

48.

AUG - 00115/1—B

ST 9o Ha fogardiareit TemaHT shegl
el ?

(A) 1969

(B) 1971

(C) 1980

(D) 1857

YR ST SATIC HEATHE A STeAfeaeh
TTRT&TOT STese] TR ST 9 Ufeiidesh
forerTeTell @i &7, "' ST hivedl STANTH
3T hell g ?

(A) THFHTE ST

(B) WISt 3R

(C) Ta mEm

(D) HEfer™@R S
“INFLIBNET” % :

(A) w3leA 9RA ST

(B) S1e4FF WA WA A
(C) Narfores Jeas e

(D) wfEdt Teerd e 3T

@il ShIod AMIN I== foreromeft
e e ?

(A) THTET
(B) RNITHT
(C) 3IRUH.TH.T
(D) 3.UH.T.
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49.

50.

51.

When choosing a teaching method,
which of the following is considered

to be the least important ?

(A) Nature of the content being

taught
(B) Available resources

(C) Course objectives

(D) Students’ likes and dislikes

The best feedback about mis-

learning is obtained through :
(A) diagnostic testing

(B) summative evaluation

(C) objective-based testing

(D) qualitative evaluation

The question, “Distinguish between
animal cell and plant cell” is based
[0)'s VOUUURURUUURURRRRR objective.

(A) Comprehension

(B) Analysis

(C) Synthesis

(D) Evaluation

49.

50.

51.

AUG - 00115/I—B
AT Ul e @it
I T foeR ShRvdr= TS Faid
HH A ?

(A) foerfaear SO MR WEY
(B) U=y HIEE-9r

o

(C) drgashAT= 3fegse

o o

(D) faeneat=a AEEl-fAa<l

Th A SFAIIASEG HeATH T

(A) SeifTer gdteror

(B) @reRTish HeoHToH

(C) feserena wdiero

(D) TUMCHe HeFHTIHA

“ ot SRITSTeRT o It ShIfSTeRT AT
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52.

53.

Students who can effectively express
their thoughts show.........................
intelligence.

(A) Emotional

(B) Linguistic

(C) Inter-personal

(D) Cognitive

The factors which most affect the

quality of teaching are :

(A) learner’s abilities, teacher’s
communication skills, teaching
method

(B) teaching method, teacher’s

communication skills, teacher’s

training

(C) teacher’s salary, teacher’s
personality, teacher’s training

(D) classroom environment, use of

audio-visual aids, learners’

intelligence

AUG - 00115/1—B

52. <1 faenetqn et foaR gumeiae <2

(A) wrafen
(B) omferen
(C) 3TR-ofereh

(D) sNYTTHE

53. YEIcTdeh! ShIVN HIZeh STEATIATET TUIERIaR

SIRTd ST 9o s ?

(A) AeFaTacat=an &mHar, feersRT=

T HINCY, AT T5d

(B) ereaToATe Ugd, fRnerRTe wuSOr

T, e wivrem

(C) Toreraman R, fYierrral Afoad<d,

foerepTe fvrero

(D) SFTETATERTT, Toh- $Ted WL aTwR,

SEFTTR= Qe
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54.

55.

56.

The most important purpose of home
assignment is to :

(4)
(B)

keep students well engaged

mstill habit of hard work in the

students

(C) provide feedback to the teacher

regarding students’ learning

(D) help in better retention of

content

Doing research involves these

steps : (1) stating research objectives

and hypothesis; (2) Methodology;

(3) Identification of research

problem; (4) Collection and analysis

of data; (5) Statement of results and

discussion.

Identify their correct sequence :

(A) 15253545

(B) 4-51-53—-2-5

(0) 3515245

D) 2—-1-55—-3—4

The bibliography of a research

report -

(A) lists all the books published on
the topic

(B) lends credibility to the report

and serves as a guide for further

research

(©) of

includes summaries

references listed in it
D)

1s always written in the format
prescribed by the American

Psychological Association

54.

55.

56.

AUG - 00115/1—B

TEUIS QUATHRIIG Hald Hewdral 3e

(A) foneatT amTen TR w30l

(B) fomneatt s FLvam=l 9o el

(C) Torerspr faeneat=a STeagATaTad
TSR Ol

(D) TR AT HRON A Hed
O

TENEH H@H (1) GEiEEE 3fER 9

STERTR TEla®; (2) ISaems; (3)

TINEA R @ (4) Heem

T[UTTCHeh /HE&ATcHh HIfgd I oseTsIoT shivl;

(5) wfaae ==icds fag=q &

o STeE SYANT el Sal. e Ay

ShH Aldl

A) 15253545

(B) 451—-3-52-5

(C) 35152545

D) 2-51-55—3—-4

TEE GeEd STearerea HeH

(A) gEmg @ favEmer g 9d
qETeRTEl ARl foerel STEd

(B) STEHATRS T STeaTend fasamardan
Rl R e G BN I I G
RIS B

(C) Y ST Yedish TeH= TR
feoten orga

(D) srewHara faemn e TafET
grasTiaArfeed 1 H ey
SUaeied IgdIgaRd shel Sd
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57.

58.

59.

60.

No hypothesis can be stated in........

terms.

(A) directional

(B) declarative

(C) null and interrogative
(D) general

The F-test :

A)
(B)
(C)

is basically one-sided
is basically two-sided

can be either, depending on the

hypothesis
(D)

can never be two-sided

Experimental research can be :
(A)
(B)
(C)
(D)

easily generalized
easily analyzed
easily planned
precisely controlled

The quality of a research journal is

indicated by its............... .
(A) Arindex
(B) gindex
(C) i/o score

(D) impact factor

58.

59.

60.

AUG - 00115/1—B

mredr ad AT

(A) feemesis

(B) 3HIYOMHR

(C) I AU YeATCHS
(D) wmE=

F-=r=oft

(A) H&Id: Th 9§ 3Td
(B) gema: gyl o

(C) TRIHRITER THYS fohan st o/ a
(D) fgys &= T4

(A) TESYU FTHITROT
(B) Hesrqui fawerson
(C) Hesrqur e

(D) “H&gum T

(A) Aindex
(B) grindex
(C) i/o score

(D) impact factor
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